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AU/ME-402 (GS)
B.Tech. IV Semester
Examination, November 2023
Grading System (GS)
Instrumentation and Control

Time : Three Hours

Maximum Marks : 70
Note: 1)  Attemptany five questions.
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1) All questions carry equal marks.
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1ii) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Explaindifferent types of instruments with diagrams.
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b) Draw aBlock diagram of Generalised Mechanical System
and explain its components.
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2. Discuss the following :
i) Moensuring lag
n)  Speed of response
i) Cahbration
v) Types of errors
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3. u) Stateand prove the linear property of Fourier Transform
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b) Explain briefly about Transient response in control system
with diagram.
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4. a) A bimetal strip is constructed of strips of yellow brass
and bronze bonded together at 30 degree Celsius. Each
has a thickness of 0.3 mm. Calculate the temperature
which produces a radius of curvature of 0.132 m.

10 fft A | @ Y 94 fot didd 3R i $
ol | & Rurg o2 @ Fmfor e s 21 v
terd 0.3 et &1 9 Ao i oFr g i 0,132 He it
gehell a1 I e gl

b) Explain the working principle of RTD with neat diagram
and give its applications.
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5. a)

6. a)
b)
1. a)
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Explain with a ncat sketch, the working of a Dead weight
pressure gauge. What are its advantages and limitations”
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Describe Diaphragm pressure gauge with a ncat sketch.
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Explain briefly about lonisation transducer with diagram.
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An Electrical Resistance Strain gauge of 100 ohm
resistance and gauge factor 2 is bonded to a specimen of

steel. Calculate the change in resistance of the gauge when
atensile stress of 60 MN/sq.m is applied on the specimen.
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Describe the concept of Open loop system with Block
Diagram. Differentiate the open loop system with closed
loop system.
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A constant water level is to be maintained in a boiler.
Suggest a suitable automatic level control system with a
block diagram and explain its working,
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8. Write a short note on any two of the following:
a)  Manometer
b) Stroboscope
¢} Orificemeter
d) Load cell
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